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INTEGER BANGO,TENSU 
 
READ(5,*) BANGO,TENSU 
IF(TENSU.GE.80)THEN 
    WRITE(6,*) BANGO,TENSU,’ GOKAKU’ 
  ELSE 
    WRITE(6,*) BANGO,TENSU,’ FU-GOKAKU’ 
ENDIF 
 
STOP 
END 
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(1) BANGO=0 TENSU=80  
 

 
 

(2) BANGO=99 TENSU=-80  
 

 
 

(3) BANGO=-30 TENSU=0  
 

 
 

(4) BANGO=999 TENSU=120  
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1 9

(IF,GO TO ) (

2 ) 
 

IF(A.GT.B)THEN 
 1 

 2 
ELSE IF(A.GT.C)THEN 

 3 

 4 
ELSE IF(A.GT.D)THEN 

 5 

 6 
ELSE 

 7 

 8 
ENDIF 
 9 
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�
(1)A=100, B=60, C=30, D=10  
�

� �
 

(2)A=100, B=120, C=90, D=50  

� �
(3)A=100, B=160, C=120, D=180 �

� �
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����IF GO TO �

B ( 2 ) 
 
 INTEGER A,B 
 B=0 
 READ(6,*)A 
 IF(A.EQ.0)GO TO 1 
 IF(A.LE.0)THEN 
   B=A+B 
   B=A+B 
  ELSE 
   B=A-B 
   B=A-B 
 ENDIF 
1 B=B-1 
 WRITE(6,*)B 
 STOP 
 END 

 

(1)A=0 B ? 

�  

(2)A=100 B ? 

�  
 

(3)A=-127 B ? 

�  

 
 

��� �
(1) (5 ) 
 
 
 
 
 
 
 
 
 
 
 
(2) : A B
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 FORTRAN  

A B≠   

A B=   

A B<   

A B   

A B>   

A B   



��� IF �
A  

 

A < 0 B  -1.0    ( ) 

A = 0 B   0.0 

A > 0 B   1.0 
 

(1) IF (2) IF (3) IF  
 

(1) IF (5 ) 
 
 

  
    
   
    
   
    
  

 
 
(2) IF (5 ) 
 

 
 
 

 
 
(3) IF (5 ) 
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K L

? ( 2 ) 
 

 L=9 

 L=(L/4)*4 
 L=L-1 
5 K=L-2*L/5 

 IF(K) 1,5,4 
4 L=L-2 
 K=K-2 

1 STOP 
 END�
�

(1) L  
�
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(2) K  
�
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(3) K L  
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          ( 2 ) 
 

(1)A, B, C X  
 

 IF(A.GE.B)GO TO 51 

 X=B 

  

51 X=A 

52 IF(C       X)X=C 
 
 
( )  
 

( )  
 

 
(2)A>B A B A B

A, B (A+B) C
 

 

 IF(A.GT.B)THEN 

   C= 

   A= 

   B= 

  ELSE 

   A= 

   B= 

 ENDIF 
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(3) S  
 

20 22 24 26 96 98 100S = + + + + + + +""  
 

 S=0 

 I= 

1 IF(            � )GO TO 2 
 S=S+I 

 I= 

  

2 WRITE(6,*)S 
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���FORTRAN �
(20 ) 

1 N (S1, S2, S3)
 

 

S1=1+2+3+4+5+6+ +N 

S2=12+22+32+42+52+62+ +N2 

S3=13+23+33+43+53+63+ +N3 
 

N  

N S1, S2, S3
 

N

N 0
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